

TO VALIDATE, GO TO [VERIFY.FTGS.US](http://VERIFY.FTGS.US) Certificate Number : **LA-COO-68901-6943ffea6067f**  
 Date : December 18, 2025

<b>Seller (Exporter)</b> Simon Miller Inc 10747 Chandler Boulevard North Hollywood CA USA	Transport Type Air	Port of Loading VERGHEL
	Destination Country Turkey	Destination Port Kocaeli
<b>Consignee</b> BOYNER AYRICALIKLI YAPI GELISTIRME A.S. Büyükdere Cad.USO Center No.245/2 Maslak-Saryer ISTANBUL / TURKEY 34396 Turkey	Export Date *****	Exporting Carrier *****
	Import Permit Number *****	Bill of Lading / AWB *****
	Owner or Agent *****	Forwarding Agent *****
<b>Buyer (Importer)</b>	Remarks	



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Women's Shoes	25 kg	China
Women's Handbags	13 kg	India
Women's Handbags	13 kg	China
=====end of products=====	=====	=====

<b>Name of Authorized Trade Association</b>  USA	The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that: - The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods. - The information in this certificate and in any documents provided to the Los Angeles Area Chamber of Commerce ("LAACC") is accurate, true and complete. - The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods. - The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents. - In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection therewith. - The Applicant is authorized to give the undertakings set out herein.
Authorized Signature <i>Farhad Ghorbani Fard</i>	

SIMON MILLER INC

10747 CHANDLER BLVD NORTH HOLLYWOOD, CA

91601

84-3455392

PROFORMA INVOICE NO.

000245874

DATE

12/17/2025

## SHIP TO

BOYNER AYRICALIKLI YAPI GELISTIRME A.S.  
 YONCA TES S , Gebze Güzeller Org. San. Böl.(GGOSB)  
 nönü Mah. Farabi Cad. No:1 Kat:1 A kap s  
 Kocaeli,Kocaeli 41400 TURKEY

## BILL TO

BOYNER AYRICALIKLI YAPI GELISTIRME A.S.  
 Büyükdere Cad.USO Center No.245/2  
 Maslak-Saryer  
 ISTANBUL / TURKEY 34396 TURKEY  
 VAT #:1670526489

Division 10	Customer # BOYNER	Contact Burcu Gonluyuce	Factor	Sales Order 000245874	Customer PO BOYNER
Terms Pre-Payment	Dept #	Phone 0090 212 366 8900	Approval #	Currency US DOLLAR	

Season	STYLE	MODEL	COLOR	Sizes & Qty's								Price (USD)	Units	Amount (USD)
N/00	F106	9137	45002: SILVER	35	36	37	38	39	40	41				
				1	1	2	2	2	1	1		141.00	10	1,410.00
BEEP THONG														
CONTENTS: 40% POLYESTER, 60% PU UPPER / 100% LEATHER SOLE														
N/00	F274	9046	91679: NATURAL	35	36	37	38	39	40	41				
				1	1	2	2	2	1	1		128.00	10	1,280.00
RAFFIA BUBBLE SLIDE														
CONTENTS: 75% PP STRAW; 25% COTTON / 100% RUBBER SOLE														
N/00	F285	9046	91679: NATURAL	35	36	37	38	39	40	41				
				1	1	2	2	2	1	1		172.00	10	1,720.00
RAFFIA CLOUDY PLATFORM														
CONTENTS: 75% PP STRAW; 25% COTTON / 100% RUBBER SOLE														
R/26	F106	9040	96523: MATCHA	35	36	37	38	39	40	41				
				1	1	1	1	1	1	1		150.00	7	1,050.00
SUEDE BEEP THONG														
CONTENTS: 100% GOAT SUEDE / 100% LEATHER SOLE														
R/26	F334	9277	91679: NATURAL	35	36	37	38	39	40	41				
				1	1	2	2	2	1	1		150.00	10	1,500.00
POM POM RIAD MULE														
CONTENTS: 75% PP STRAW; 25% COTTON / 100% LEATHER SOLE														
R/26	F338	9137	45002: SILVER	35	36	37	38	39	40	41				
				1	1	2	2	2	1	1		85.00	10	850.00
RIVIERA THONG SANDAL														
CONTENTS: 40% POLYESTER, 60% PU UPPER / 100% LEATHER SOLE														

## REMIT PAYMENT TO

SIMON MILLER INC  
10747 CHANDLER BLVD NORTH HOLLYWOOD, CA 91601

TOTAL UNITS	57
MERCHANDISE	7,810.00
DISCOUNT	0.00
MISCELLANEOUS	0.00
FREIGHT	0.00
TAX	0.00
<b>TOTAL(USD)</b>	<b>7,810.00</b>
DEPOSIT DUE:	7,810.00

## SPECIAL INSTRUCTIONS



This order between customer and Simon Miller Inc, with a registered office located at 10747 Chandler Blvd, North Hollywood, CA 91601 is considered a confirmation and subject to the below terms and agreements. Any disputes or claims arising out of or in connection with shall be governed by the laws of United States of America and shall be subject to the exclusive jurisdictions of the Court of Los Angeles, California, USA.

All sales are subject to availability of merchandise and credit approval from Simon Miller or its factor. All goods shall be shipped at the customer's expense unless otherwise specified on this order or authorized by a Simon Miller team representative.

SIMON MILLER INC

10747 CHANDLER BLVD NORTH HOLLYWOOD, CA

91601

84-3455392

PROFORMA INVOICE NO.

000246329

DATE

12/17/2025

SHIP TO

BOYNER AYRICALIKLI YAPI GELISTIRME A.S.  
 YONCA TES S , Gebze Güzeller Org. San. Böl.(GGOSB)  
 nönü Mah. Farabi Cad. No:1 Kat:1 A kap s  
 Kocaeli,Kocaeli 41400 TURKEY

BILL TO

BOYNER AYRICALIKLI YAPI GELISTIRME A.S.  
 Büyükdere Cad.USO Center No.245/2  
 Maslak-Saryer  
 ISTANBUL / TURKEY 34396 TURKEY  
 VAT #:1670526489

Division 10	Customer # BOYNER	Contact Burcu Gonluyuce	Factor	Sales Order 000246329	Customer PO BOYNER
Terms Pre-Payment	Dept #	Phone 0090 212 366 8900	Approval #	Currency US DOLLAR	

Season	STYLE	MODEL	COLOR	Sizes & Qty's	Price (USD)	Units	Amount (USD)
N/00	S1052	9257	96179: NATURAL	OS 3	85.00	3	255.00
FISH BAG							
CONTENTS: SHELL: 98% RAFFIA, 2% GLASS BEADS, LINING: 100% COTTON							
N/00	S1053	9152	96179: NATURAL	OS 3	107.00	3	321.00
SHELLY BAG							
CONTENTS: 85% PAPER RAFFIA, 15% NATURAL SHELLS							
N/00	S1056	9257	96418: YELLOW	OS 3	85.00	3	255.00
BANANA BUNCH WRISTLET							
CONTENTS: 90% RAFFIA PAPER, 8% IRON, 2% STAINLESS STEEL							
N/00	S849	9239	96420: GOLD/NATURAL	OS 2	128.00	2	256.00
METALLIC RAFFIA LOPSY BAG							
CONTENTS: 90% POLYESTER, 10% COTTON							
N/00	S849	9259	10211: ZEBRA TRIP	OS 3	128.00	3	384.00
LOPSY BAG							
CONTENTS: 35% PU, 45% POLYESTER, 20% FILM							
N/00	S1052	9268	96179: NATURAL	OS 3	98.00	3	294.00
PUKA FISH BAG							
CONTENTS: 85% PAPER RAFFIA, 15% NATURAL SHELLS							
P/25	S1058	9257	10608: MACADAMIA	OS 2	98.00	2	196.00
OYSTER CLUTCH							
CONTENTS: 90% RAFFIA PAPER, 8% IRON, 2% STAINLESS STEEL							
R/26	S1038	9267	96590: BROWN ZEBRA	OS 3	128.00	3	384.00
BEADED LUNE CLUTCH							
CONTENTS: 100% GLASS BEADS, 100% POLYESTER LINING							
R/26	S1038	9284	96559: SILVER/OLIVE MOTIF	OS 3	128.00	3	384.00
BEADED LUNE CLUTCH							
CONTENTS: 100% GLASS BEADS, 100% POLYESTER LINING							
R/26	S1048	9086	96138: COW PRINT	OS 2	141.00	2	282.00
HAIRCALF MINI MERCADO TOTE							
CONTENTS: 100% HAIRCALF							
R/26	S1064	9033	96352: CHESTNUT	OS 2	154.00	2	308.00
TIKI LEATHER BAG							
CONTENTS: 100% COW LEATHER							
N/00	S1066	9257	96179: NATURAL	OS 3	98.00	3	294.00
ELEPHANT BAG							
CONTENTS: SHELL: 98% RAFFIA, 2% GLASS BEADS, LINING: 100% COTTON							
R/26	S849	9262	96470: BLACK/WHITE STRIPE	OS 3	128.00	3	384.00
LOPSY BAG							
CONTENTS: 85% POLYETHYLENE, 15% POLYESTER							



This document between customer and Simon Miller Inc, with a registered office located at 10747 Chandler Blvd, North Hollywood, CA 91601 is considered a confirmation and acceptance of the below terms and agreements. Any disputes or claims arising out of or in connection with shall be governed by the laws of United States of America

and shall be subject to the exclusive jurisdictions of the Court of Los Angeles, California, USA.  
 All sales are subject to availability of merchandise and credit approval from Simon Miller or its factor. All goods shall be shipped at the customer's expense unless otherwise specified on this order or authorized by a Simon Miller team representative.

**SIMON MILLER INC****10747 CHANDLER BLVD NORTH HOLLYWOOD, CA****91601****84-3455392****PROFORMA INVOICE NO.****000246329****DATE****12/17/2025****SHIP TO**

BOYNER AYRICALIKLI YAPI GELISTIRME A.S.  
 YONCA TES S , Gebze Güzeller Org. San. Böl.(GGOSB)  
 nönü Mah. Farabi Cad. No:1 Kat:1 A kap s  
 Kocaeli,Kocaeli 41400 TURKEY

**BILL TO**

BOYNER AYRICALIKLI YAPI GELISTIRME A.S.  
 Büyükdere Cad.USO Center No.245/2  
 Maslak-Saryer  
 ISTANBUL / TURKEY 34396 TURKEY  
 VAT #:1670526489

Division 10	Customer # BOYNER	Contact Burcu Gonluyuce	Factor	Sales Order 000246329	Customer PO BOYNER
Terms Pre-Payment	Dept #	Phone 0090 212 366 8900	Approval #	Currency US DOLLAR	

Season	STYLE	MODEL	COLOR	Sizes & Qty's	Price (USD)	Units	Amount (USD)

**REMIT PAYMENT TO**

SIMON MILLER INC  
 10747 CHANDLER BLVD NORTH HOLLYWOOD, CA 91601

<b>TOTAL UNITS</b>	<b>35</b>
MERCHANDISE	3,997.00
DISCOUNT	0.00
MISCELLANEOUS	0.00
FREIGHT	0.00
TAX	0.00
<b>TOTAL(USD)</b>	<b>3,997.00</b>
DEPOSIT DUE:	3,997.00

**SPECIAL INSTRUCTIONS**

This order between customer and Simon Miller Inc, with a registered office located at 10747 Chandler Blvd, North Hollywood, CA 91601 is considered a confirmation and subject to the below terms and agreements. Any disputes or claims arising out of or in connection with shall be governed by the laws of United States of America and shall be subject to the exclusive jurisdictions of the Court of Los Angeles, California, USA.

All sales are subject to availability of merchandise and credit approval from Simon Miller or its factor. All goods shall be shipped at the customer's expense unless otherwise specified on this order or authorized by a Simon Miller team representative.

Page 2 of 2

12/17/25 6:51 PM

LA-C00-68901-6943ffea6067f/December 18, 2025

**İHRACATÇI KAYIT FORMU**

**EXPORTER REGISTRY FORM**

Legal Title*	SIMON MILLER INC.	
Business Title**	SIMON MILLER INC.	
Address*** 1. Line	10747 Chandler Blvd	
Address 2. Line		
Address 3. Line		
City	North Hollywood	
State/Province/Region	CA	
ZIP	91601	
Country	United States	
Phone Number		
Fax Number		
URL	https://www.simonmillerusa.com/	
E-mail	carla@simonmillerusa.com	
Tax Authority	USA/NL	
Tax Registry Number	84-3455392 / NL 810234762 B02	
Number of Employee (Yearly average)	20-25	
Total Sales in USD (last year)	\$20MUSD	
Year of Establishment	10/23/2019 (attached)	
Legal (Corporate) Status	Stock Corporation - CA - General	
International quality certificates owned and their registry numbers		

**Countries products are exported to**

Export country(ies)	Product(s)
UK, FRANCE, ITALY	Women's clothing, handbaggs, footwear, accessories

**I hereby declare that the information presented above is correct and verifiable.**

Name, surname and title in the company	Vanessa Martinez, Director Of Operations
Company stamp and sing of the authorized person	<i>Vanessa Martinez</i>

\*The title that company is registered to.

\*\*The title appears on invoice.

\*\*\*Legal address that headquarters is legally registered.

